
 

Christmaths with  

the Mr Men 

Mr Clever’s Ken Ken 

Mr Lazy’s  

incomplete equation 

Mr Wrong’s  

deliberate mistake 

Mr Tickle’s  

rib tickler 

Mr Snow spent most of the year dreaming of a white Christmas.  

Last year the number of snowmen that he built was equal to the on-

ly number whose letters are in alphabetical order when the  

number is written in words.  

The year before it was equal to the only number whose letters  

are in reverse alphabetical order when the number is written in 

words.  

What are these two  

numbers? 

Did you hear the one about  

the Mathematical plant? 

It had square roots. 

12 = E on a C 

7+  2÷ 144x 

    

   9+ 

8x    

3 

Famous Mathematicians born on Christmas Day include 

A) Isaac Newton  B) Theodor Molien  C) Antoni Zygmund 

http://www.youtube.com/watch?v=d4OAVo_9hrw

